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Match #8


These questions are for use in the Virginia High School League’s Scholastic Bowl State Tournament. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Participants must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before the end of the state tournament is prohibited. 

(b)
Releasing these questions to entities outside Virginia is prohibited. 

First period: 15 tossups, 10 points each
1.
Vesicles shuttle material between it and the Golgi complex. Its main functions include sequestration of calcium, production and storage of glycogen and steroids, and the translation, folding, and transport of proteins.  Name this cell organelle that is a network of tubules, vesicles, and cisternae that has rough and smooth varieties.  

ANSWER: ER or endoplasmic reticulum
2.
This poem’s title character finally produces Art, doing so with a manuscript she sold to travel to Italy. The Lady Waldemar serves as a villain in this epic poem, causing Marian Erle to briefly a life of prostitution. Its title character becomes a poet after initially refusing to marry to her cousin. The cousin, Romney, and the title character get married at the end of what epic poem by Elizabeth Barrett Browning? 


ANSWER: “Aurora Leigh”

3.
He was the second American taken with the first pick of the NHL Entry Draft. He led his team to the 1999 Stanley Cup, and is currently the alternate captain of his team behind Brenden Morrow. He holds the career record, for an American, for goals scored and points. He is the only player on his team to have played in Minnesota. What center and 1990 Calder Trophy finalist holds the team goals-scored record for the Dallas Stars?

ANSWER: Mike Modano
4.
He was Britain’s first professor of economics, arguing that it was possible for supply to greatly exceed demand, a concept he called a ‘glut.’ Henry George dismissed him by pointing out that ‘the more men, the more chickens.’ He argued that arithmetically increasing food production and geometrically increasing population would lead to famine, war, or other misery. What 18th century Englishman wrote Essay on the Principle of Population? 


ANSWER: Thomas (or Robert) Malthus
5.
This author featured a teenage serial killer, Eric Poole, in his novel, Tenderness, which will be adapted to film later this year. Kate, a teenage camp bus driver, and Miro, a teenage terrorist, appear in his After the First Death. He portrayed Adam Farmer’s struggles to remember his past in I Am the Cheese. His most banned novel is about a secret society, the Vigils, at Trinity Prep, and how this society bullies Jerry Renault. Who is the author of The Chocolate War? 


ANSWER: Robert Cormier
6.
After attacking the Moncada Barracks, he was sentenced to fifteen years in the prison on Isla de Pinos. He was released in a general amnesty and re-launched his guerrilla war from the Sierra Maestra mountains. Later declaring that, ‘We are against all kinds of dictators … That is why we oppose communism,’ he overthrew Fulgencio Batista and assumed power. Between 1959 and 2008, who was the President of Cuba? 


ANSWER: Fidel Castro
7.
Bongori and Enterica are species of this genus of rod-shaped Gram-negative bacteria.  It has over 2500 serovars and can be contracted by handling reptiles.  Name this type of enterobacteria that causes typhoid fever and can cause foodborne illness, especially through poultry and raw eggs.

ANSWER: salmonella
8.
One of his few interventions in the world of gods and men was making Soma return Brihaspati’s wife, Taraka. His wife, Saraswati, the goddess of learning, was a form of Shatarupa. His love of Shatarupa was ruled wrong and the other gods condemned him to not be worshipped. He is usually depicted with four heads, each of which repeats one of the Vedas. He thought into being seven great sages to help him create the universe. What Hindu creator god was part of the Trimurti with Vishnu and Shiva? 


ANSWER: Brahma or Brahman
9.
Making up the genus Apteryx, it consists of five species:  the great spotted, the little spotted, the okarito brown, the tokoeka (toh-koh-AY-kah), and the North Island brown.  This small bird is nocturnal and has a long bill.  Name this flightless bird that is the national symbol of New Zealand.

ANSWER: kiwi
10.
He roped a runaway steer at Madison Square Garden. Later, he worked his comedy between the Ziegfield Follies’ dancing acts, opening with the line, ‘All I know is what I read in the papers.’ After 1930, he broadcast on radio, needing an alarm clock to ensure he didn’t go over his half-hour. He and Wiley Post died in a 1935 plane crash. What humorist said, ‘I never yet met a man that I didn’t like?’ 


ANSWER: Will Rogers
11.
In 1990, they had their debut the night before the World Cup final, and they also performed before the 1994, 1998, and 2002 finals. Their concerts often included Nessun Dorma from Turandot and the Italian standard O Sole Mio. Their 1990 concert, with Zubin Mehta conducting, remains the all-time best-selling classical music album. What group consisted of Plácido Domingo, José Carreras, and Luciano Pavarotti? 


ANSWER: The Three Tenors
12.
THIS IS A COMPUTATION QUESTION. What fraction in simplest form has decimal form .4 repeating, given that its reciprocal is 2.25?

ANSWER: 4/9
13.
For organic chemistry, it is used to protect functional groups or to stabilize reactive compounds.  Examples of it include triphenylphosphine, pyridine, ammonia, water, and cyanide.  Name this term that for inorganic chemistry refers to a molecule or ion that is bonded to the metal ion in a complex ion.

ANSWER: ligand
14.
The most common meaning of this four-letter word comes from a Gothic word meaning ‘to destroy.’ When paired with ‘into,’ it means to attack viciously. It also refers to disrupting something, as with a country at war. It can also mean to pull something forcefully from someone else. When paired with ‘up,’ it means to cancel something.  What word describes the fluid that the lacrimal glands produce at the corner of the eyes?


ANSWER: tear (accept either pronunciation)

15.
The defendant in this case spent ten years in prison for printing flyers that violated the Espionage Act of 1917. The standard set by it was lessened by the ‘bad tendency’ test of 1927’s Whitney v. California and the ‘imminent lawless action’ test of 1969’s Brandenburg v. Ohio. In his opinion, Oliver Wendell Holmes mentioned the example of ‘shouting fire in a theater’ as an unreasonable exercise of free speech. The ‘clear and present danger’ test was presented in what 1919 Supreme Court decision? 


ANSWER: Schenck v. USA
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
THIS IS A COMPUTATION QUESTION. What is the lowest common multiple of 12, 8, and 9?

ANSWER: 72
1B.
November 2007 saw the confirmation of what man nominated to replace departing Attorney General Alberto Gonzales?

ANSWER: Michael Mukasey
2A.
A normal human being has how many pairs of cranial nerves?

ANSWER: 12
2B.
Provide either pronunciation of – what word that refers to either the forward end of a ship or to a knot that has at least two loops? 


ANSWER: bow (accept either pronunciation)

3A.
What desert of 70,000 square miles in northern Chile is between the Chilean Coast Range and the Andes Mountains, and is virtually rainless as a result? 


ANSWER: Atacama Desert

3B.
Often created by thermal convection, what puffy clouds get their name from the Latin word for ‘heap’? 

ANSWER: cumulus
4A.
Who wrote The World According to Garp and The Cider House Rules? 


ANSWER: John Irving
4B.
What name has been shared by four arenas, the current of which is atop Penn Station in Manhattan?  


ANSWER: Madison Square Garden
5A.
Disputes over residuals from DVD sales and distribution of content over ‘new media’ channels led to a strike by what union in November 2007?

ANSWER: Writer's Guild of America

5B.
THIS IS A COMPUTATION QUESTION. If x = 6 when y = 22 and maintains that ratio, what is the value of y when x = 15?

ANSWER: y equals 55
6A.
What name is given to three periods, separated by spaces, used to indicate an omission in a quotation? 

ANSWER: ellipsis 
6B.
A danger of oligopoly is the formation of what formal agreements between firms to keep down wages, drive up prices, or otherwise increase profits? 


ANSWER: cartel(s)

7A.
What uncle of Queen Victoria ruled the United Kingdom between 1830 and 1837?


ANSWER: William IV
7B.
THIS IS A COMPUTATION QUESTION. How many square inches are in 2 square yards?

ANSWER: 2592 square inches
8A.
THIS IS A COMPUTATION QUESTION. What is 3901 divided by 47?

ANSWER: 83
8B.
What Dutchman painted Milkmaid and The Girl with a Pearl Earring?

ANSWER: Johannes (or Jan) Vermeer
9A.
What is the SI unit of force?

ANSWER: newton
9B.
The ‘M’ in M31, an alternate name for Andromeda, and M33, an alternate name for Triangulum, stands for what French astronomer’s last name? 


ANSWER: Charles Messier (meh-see-AY)

10A.
Name either of the two people Jesus Christ conversed with during His Transfiguration. 


ANSWER: Moses or Elijah
10B.
Piers Anthony created what magical country that strangely resembles the state of Florida? 


ANSWER: Xanth
Third period, 15 toss-ups, 10 points each

1.
He blamed a society where ‘wealth accumulates and men decay’ for the loss of the village of Auburn in his poem The Deserted Village. He writes about Lien Chi, a fictional Chinese traveler in England, in The Citizen of the World. He may have written about Margery Meanwell in ‘The History of Little Goody Two-Shoes.’ Who created the characters of Dr. Primrose and Kate Hardcastle in the novel The Vicar of Wakefield and the play She Stoops to Conquer? 

ANSWER: Oliver Goldsmith
2.
Between 150 and 450 AD, this city extended for 11 square miles and had a population of around 200,000 people – but had no fortifications. It appears an internal revolution destroyed only its palaces and temples in the 7th century. Its name means ‘Place of Reeds’ in Mayan hieroglyphics, but ‘Birthplace of the Gods’ in Nahuatl. The Avenue of the Dead connects the Temple of the Feathered Serpent, the Pyramid of the Sun, and the Pyramid of the Moon in what pre-Columbia city in Mexico?

ANSWER: Teotihuacan (tay-oh-tee-wah-KAHN)

3.
By the end of this episode, the fate of Sherman’s Planet is still unknown, Arne Darvin is revealed as a spy by the title creatures, and Cyrano Jones is ordered to remove the creatures he brought to the space station. The title creatures usually coo, but begin shrieking when around Klingons. What Star Trek Original Series episode is about small, furry creatures which, when not cooing, are multiplying? 

ANSWER: “The Trouble with Tribbles”

4.
This hurricane’s storm surge created an inlet on Hatteras Island that is now named for the hurricane. The entire eastern half of Virginia was declared a federal disaster area, and over 900,000 people remained without power for two days following the storm. Heavy winds caused damage from Fairfax south to Pittsylvania Counties. What hurricane made landfall in September 2003 and quickly blew through Virginia?

ANSWER: Hurricane Isabel
5.
He formed a New Orleans chapter of the Fair Play for Cuba Committee and attempted to kill former General Edwin Walker. He had once worked in the Horizon Electronics Factory in Minsk, where he married Marina Prusakova. In June 1962, he returned to the U.S. after spending three years in the Soviet Union. He was arrested in the Texas Theater several minutes after killing Dallas policeman J.D. Tippit. He was shot two days later by Jack Ruby. Who was the accused assassin of John F. Kennedy? 


ANSWER: Lee Harvey Oswald
6.
In one episode in this novel, three of its characters are climbing California’s Matterhorn Peak; this led to the author working as a real-life fire lookout in Washington State’s Desolation Peak. The poem ‘Howl’ is changed to ‘Wail’ in this book, and its author, Allen Ginsberg, is called ‘Alvah Goldbrook.’ Gary Snyder is called Japhy Ryder in what book, where Ray Smith is a representation of its author, Jack Kerouac? 

ANSWER: The Dharma Bums
7.
In 1852, the southern part of this county was incorporated as an independent city. It changed its name in 1920 to end confusion between the city and county, and is named after the house of Robert E. Lee. What Virginia county, the smallest by land area, is home to Reagan National Airport and the Pentagon? 


ANSWER: Arlington County, Virginia

8.
Her uncle Mordecai had advised her to keep her ethnicity secret, but she revealed it after she learned of Hanan’s plan to kill the Jews. After Queen Vashti was overthrown, she was chosen after a four-year search to become the new queen. What woman is the wife of Ahasuerus, the emperor of Persia, and the namesake of an Old Testament book? 


ANSWER: Esther
9.
His first appearance was ‘The Case of the Chemical Syndicate,’ which appeared in 1939’s Detective Comics #27. That first story was by writer Bill Finger and artist Bob Kane. DC Comics’ ‘Mightiest Team in the World’ consisted of him and Superman. Among the few people who know his secret are his butler Alfred Pennyworth and his ward Dick Grayson. Having seeing the death of his parents, later in life Bruce Wayne adopted what crime-fighting persona? 


ANSWER: Batman (prompt on an early ‘Bruce Wayne’)
10.
It is also known as tar camphor and is a volatile compound that appears as white crystals or flakes.  Large amounts of it can destroy red blood cells.  Name this aromatic hydrocarbon consisting of two fused benzene rings with chemical formula C10H8 that is the main ingredient of mothballs.

ANSWER: naphthalene
11.
Gullah and Tok Pisin (tawk pee-seen) are examples adapted from English, while the Haitian variety has been adapted from French. Some of these languages are created by natives from pidgin languages, while others gradually develop from a mother tongue. What are these languages formed by a “merger” of two or more languages? 

ANSWER: creole (do not accept “pidgin”) 
12.
For a weak field, it is anomalous; for a strong field, it is known as the Paschen-Back effect. The second Nobel Prize in Physics ever awarded went, in 1902, to Dutch physicist Hendrik Lorentz, its predictor, and to its namesake discoverer, a fellow Dutch physicist.  Name this effect that is the splitting of a spectral line into several components in a magnetic field.

ANSWER: Zeeman effect

13.
They include a 247-foot frieze, 15 metopes (meh-TOH-peez), and several other random statues. The Duveen Gallery of the British Museum was built to show these objects, many of which once decorated the Parthenon. They are named for the British official who took them from Greece. The Greek government is now seeking the return of what set of marble sculptures? 


ANSWER: Elgin Marbles (accept Parthenon Marbles if said early)
14.
THIS IS A COMPUTATION QUESTION. What is the complement of a 37-degree angle, given that an angle plus its complement equals 90 degrees?

ANSWER: 53 degrees
15.
It is the only US state with a true circle as part of its boundary. Landmarks in this state include Fort Christina from a short-lived Swedish colony as well as the post office boxes that serve as the mailing addresses for many corporations. There are only three counties in what state whose capital is Dover and which is also the second-smallest by land area in the country? 


ANSWER: Delaware
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
This city’s King Nammu wrote a law code that preceded Hammurabi’s by three centuries. Its ziggurat dedicated to the moon god Nanna is among its ruins located near the modern-day city of Nasiriyah in Iraq. Its most famous resident, if some scholars are to be believed, was the Biblical Patriarch Abraham. What Sumerian city located near the Persian Gulf’s ancient shores was, along with Eridu, one of the southernmost cities in Mesopotamia?  


ANSWER: Ur or Urim
2.
Its first logic statement initializes the counter variable. It will run until the second logic statement is broken. The third statement changes the counter variable by the amount the programmer assigned it. Name this type of loop in C++ distinguished by a loop variable that allows code to be executed a pre-set number of times. 


ANSWER: For Loop

3.
It now includes rules on ‘delivery bonds’ for detained foreigners, an official definition for ‘terrorist organization,’ and limits the possible judicial review over the planned border fence. Its implementation has been postponed until 2011, as Maine and Utah were the first of several states to pass resolutions opposing this law. What act passed in 2005 requires states to share their motor vehicle databases and specifies minimum documentation requirements for drivers’ licenses? 

ANSWER: REAL ID Act of 2005

4.
It is a property of the union of sets over intersection, matrix multiplication over matrix addition, and multiplication of numbers over addition.  What property states that a times the quantity b plus c equals a times b plus a times c? 

ANSWER: distributive
5.
His skill at tracking led Gisborne to ask him to join the British raj’s forestry service in his first appearance, the short story ‘In the Rukh.’ He was called ‘the Frog’ by his first adopted parents due to his lack of fur and was later adopted by Messua and her husband. As a youth, he befriends Bagheera the panther and is sent to Baloo the Bear to learn the ‘Law of the Jungle.’ Shere Khan the tiger continually seeks to capture what boy, the human in The Jungle Book? 


ANSWER: Mowgli
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

